FINAL ANSWER KEY

Exam: LLB5-AUG2021
Date of Test: 11-08-2021

Question1:-Choose the word nearest in meaning to the word given in capital letters.
FRUGALITY

A:-Foolishness

B:-Extremity

C:-Enthusiasm

D:-Economy

Correct Answer:- Option-D
Question2:-Choose the word nearest in meaning to the word given in capital letters.
GERMANE

A:-Responsible

B:-Logical

C:-Possible

D:-Relevant

Correct Answer:- Option-D
Question3:-Choose the word nearest in meaning to the word given in capital letters.
SYNOPSIS

A:-Index

B:-Mixture

C:-Summary

D:-Puzzles

Correct Answer:- Option-C
Question4:-Choose the word nearest in meaning to the word given in capital letters.
GARNISH

A:-Paint

B:-Garner

C:-Adorn

D:-Abuse

Correct Answer:- Option-C
Question5:-Choose the word nearest in meaning to the word given in capital letters.
REPEAL

A:-Sanction

B:-Perpetuate

C:-Pass

D:-Cancel

Correct Answer:- Option-D
Question6:-Choose the nearest one word from among the alternatives given below:

A person who tries to deceive people by claiming to be able to do wonderful things
A:-Trickster
B:-Imposter
C:-Magician
D:-Mountebank
Correct Answer:- Option-A
Question7:-Choose the nearest one word from among the alternatives given below:

A person pretending to be somebody he is not
A:-Magician
B:-Rogue
C:-Liar
D:-Imposter
Correct Answer:- Option-D
Question8:-Choose the nearest one word from among the alternatives given below:

One who has little faith in human sincerity and goodness
A:-Egoist
B:-Fatalist
C:-Stoic
D:-Cynic
Correct Answer:- Option-D
Question9:-Choose the nearest one word from among the alternatives given below:

A person of good understanding knowledge and reasoning power
A:-Expert
B:-Intellectual
C:-Snob
D:-Literate
Correct Answer:- Option-B
Question10:-Choose the nearest one word from among the alternatives given below:



A religious discourse
A:-Preach
B:-Stanza
C:-Sanctorum
D:-Sermon
Correct Answer:- Option-D
Question11:-Fill up the sentence with the most appropriate words from the choices given below.

She ...... Rs 80 out of the bank every Friday.
A:-obtains
B:-draws
C:-pulls
D:-extracts
Correct Answer:- Option-B
Question12:-Fill up the sentence with the most appropriate words from the choices given below.

He is a very careful person; he never takes side but remains ......
A:-impartial
B:-unbiased
C:-neutral
D:-prejudiced
Correct Answer:-Question Cancelled
Question13:-Fill up the sentence with the most appropriate words from the choices given below.

This brand of TV is quite inferior ...... that one.
A:-than
B:-to
C:-with
D:-over
Correct Answer:- Option-B
Question14:-Fill up the sentence with the most appropriate words from the choices given below.

The thief ...... all the money.
A:-made up
B:-made off with
C:-mode do with
D:-made good
Correct Answer:- Option-B
Question15:-Fill up the sentence with the most appropriate words from the choices given below.

My father ...... down for a nap.
A:-lays
B:-lad
C:-lain
D:-lie
Correct Answer:-Question Cancelled
Question16:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals
A:-Vocation
B:-Pacification
C:-Peace
D:-Destruction
Correct Answer:- Option-B
Question17:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals
A:-Semi-transparent
B:-Muddy
C:-Opaque
D:-Dark
Correct Answer:- Option-C
Question18:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals
A:-Mutual
B:-Shaggy
C:-Meretricious
D:-Slovenly
Correct Answer:- Option-D
Question19:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals
A:-Native
B:-Domiciled
C:-Natural
D:-Resident
Correct Answer:- Option-A
Question20:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals
A:-Affable
B:-Natural
C:-Plastic
D:-Cosmetic

. PROVOCATION

. TRANSPARENT

. METICULOUS

. ALIEN

. SYNTHETIC



Correct Answer:- Option-B
Question21:-Identify the meaning of the idiom or phrase in CAPITAL LETTERS from the choices.

Sanjay is very DIFFERENT ABOUT passing the Civil Services Examination this year.
A:-Dead sure of
B:-Very hopeful of
C:-Lacking self-confidence about
D:-Reasonably certain of
Correct Answer:-Question Cancelled
Question22:-Identify the meaning of the idiom or phrase from the choices.

Leaders should not only make speeches they should also be prepared TO BELL THE CAT.
A:-To take lead in danger.
B:-To tie bell to a cat's neck
C:-To be alert of the enemy
D:-To make noise
Correct Answer:- Option-A
Question23:-ldentify the meaning of the idiom or phrase from the choices.

The popularity of the yesterday's superstar is ON THE WANE.
A:-at its peak
B:-at rock bottom
C:-growing more
D:-growing less
Correct Answer:- Option-D
Question24:-Identify the meaning of the idiom or phrase from the choices.

How long will the people PUT UP with the increasing economic hardships?
A:-welcome
B:-take easily
C:-remain satisfied with
D:-tolerate
Correct Answer:- Option-D
Question25:-Identify the meaning of the idiom or phrase from the choices.

The rebels HELD OUT for about a month

A:-waited

B:-retreated

C:-bargained

D:-resisted

Correct Answer:- Option-D
Question26:-Choose the word correctly spelt.

A:-Indipensable

B:-Indipenseble

C:-Indispansible

D:-Indispensable

Correct Answer:- Option-D
Question27:-Choose the word correctly spelt.

A:-ltinarery

B:-Itinerary

C:-ltenary

D:-ltinarary

Correct Answer:- Option-B
Question28:-Choose the word correctly spelt.

A:-Survaillance

B:-Surveillance

C:-Survellance

D:-Surveilance

Correct Answer:- Option-B
Question29:-Choose the word correctly spelt.

A:-Acommodation

B:-Accomodaton

C:-Accommodation

D:-Acomodation

Correct Answer:- Option-C
Question30:-Choose the word correctly spelt.

A:-Satelite

B:-Sattelite

C:-Satellite

D:-Sattellite

Correct Answer:- Option-C
Question31:-Find out the incorrectly spelt word

A:-Filled

B:-Fulfiled

C:-Expelled



D:-Skilled

Correct Answer:- Option-B
Question32:-Find out the incorrectly spelt word

A:-Seperation

B:-Desertion

C:-Rejoice

D:-Serenity

Correct Answer:- Option-A
Question33:-Find out the incorrectly spelt word

A:-Transmit

B:-Attribute

C:-Constitute

D:-Investegate

Correct Answer:- Option-D
Question34:-Find out the incorrectly spelt word

A:-Numerous

B:-Nucleus

C:-Nuisence

D:-Numismatics

Correct Answer:- Option-C
Question35:-Find out the incorrectly spelt word

A:-Approach

B:-Compartment

C:-Restaurent

D:-Municipality

Correct Answer:- Option-C
Question36:-In the question below a sentence is broken into five or six parts

1. seen 2. going 3. You 4. him 5. have
A:-35214
B:-35142
C:-32514
D:-35124
Correct Answer:- Option-B
Question37:-In the question below a sentence is broken into five or six parts

1. bag 2. you 3. Seen 4. have 5. my
A:-51432
B:-43512
C:-42351
D:-42153
Correct Answer:- Option-C
Question38:-In the question below a sentence is broken into five or six parts

1. killed 2. a 3. Jaswant 4. bear 5. wild
A:-31254
B:-53124
C:-23145
D:-43125
Correct Answer:- Option-A
Question39:-In the question below a sentence is broken into five or six parts

1. was 2. and 3. Suresh 4. kind 5. loving
A:-31425
B:-54213
C:-34251
D:-15243
Correct Answer:- Option-A
Question40:-In the question below a sentence is broken into five or six parts

1. not 2. hotel 3. Comfortable 4. was 5. the
A:-34521
B:-53412
C:-34152
D:-52413
Correct Answer:- Option-D

. Join these parts to make a meaningful sentence

. Join these parts to make a meaningful sentence

. Join these parts to make a meaningful sentence

. Join these parts to make a meaningful sentence

. Join these parts to make a meaningful sentence

Question41:-Convert the sentence given in the question into Indirect speech.

She said to her friend, "I know where everyone is"
A:-She told that she knew where was everyone.
B:-She told her friend that she knew where everyone was.
C:-She told her friend that she knew where is everyone.
D:-She told her friend that she knows where was everyone.
Correct Answer:- Option-B

Question42:-Convert the sentence given in the question into Indirect speech.

. The correct order of p

. The correct order of p

. The correct order of p

. The correct order of p

. The correct order of p



“We were living in New Delhi, they told me.
A:-They told me that they had been living in New Delhi.
B:-They told me that they were living in New Delhi.
C:-They said me that they live in New Delhi.
D:-They said me that they has been living in New Delhi.
Correct Answer:- Option-A
Question43:-Convert the sentence given in the question into Indirect speech.

He said, “l would buy a new house, if | were rich”.
A:-He said he would had brought a new house if he were rich.
B:-He said that he would buy a new house if he was rich.
C:-He said that he will buy a new house when he is rich.
D:-He said that he would buy a new house if he had been rich.
Correct Answer:-Question Cancelled
Question44:-Convert the sentence given in the question into Indirect speech.

| said to him, 'Why are you working so hard?'
A:-1 told him why are you working so hard.
B:-l asked him why he was working so hard.
C:-I asked him why he is working so hard.
D:-I asked him why had he been working so hard.
Correct Answer:- Option-B
Question45:-Convert the sentence given in the question into Indirect speech.

"l always drink coffee", she said
A:-She said that she always drank coffee.
B:-She says she always drank coffee.
C:-She said that she always drink coffee.
D:-She told she always drink coffee.
Correct Answer:- Option-A
Question46:-Which of phrases given below each sentence should replace the phrase printed in CAPITAL LETTERS to make it grammatically correct

They are NOT BEWARE of all the facts
A:-are not aware for
B:-are not aware of
C:-are not to be aware
D:-must not to be aware for
Correct Answer:- Option-B
Question47:-Which of phrases given below each sentence should replace the phrase printed in CAPITAL LETTERS to make it grammatically correct

We met him immediately after the session in which HE HAD BEEN given a nice speech.
A:-would be giving
B:-has been given
C:-will have given
D:-had given
Correct Answer:- Option-D
Question48:-Which of phrases given below each sentence should replace the phrase printed in CAPITAL LETTERS to make it grammatically correct

Tax evaders SHOULD HEAVILY PUNISHED as they do it intentionally.
A:-should be heavy fined
B:-should have heavily fined
C:-shall have heavy fine
D:-should be heavily fined
Correct Answer:- Option-D
Question49:-Which of phrases given below each sentence should replace the phrase printed in CAPITAL LETTERS to make it grammatically correct

"Friends, the light has GONE AWAY FROM our lives and is darkness everywhere"
A:-off
B:-out of
C:-out from
D:-out off
Correct Answer:- Option-B
Question50:-Which of phrases given below each sentence should replace the phrase printed in CAPITAL LETTERS to make it grammatically correct

| have got some tea, but | do not HAVE A sugar.
A:-have some
B:-has got
C:-have more
D:-have any
Correct Answer:- Option-D
Question51:-Pick out the most appropriate word from the choices to fill in the blanks to make the sentence complete.

It..... that Prashant will not be selected for the post
A:-feels
B:-looks



C:-believes
D:-seems
Correct Answer:- Option-D
Question52:-Pick out the most appropriate word from the choices to fill in the blanks to make the sentence complete.

The machine is difficult to build ...... easy to maintain.
A:-but
B:-and
C:-for
D:-if
Correct Answer:- Option-A
Question53:-Pick out the most appropriate word from the choices to fill in the blanks to make the sentence complete.

Many ...... decisions were taken at the meeting.
A:-hectic
B:-historic
C:-historical
D:-histrionic
Correct Answer:- Option-B
Question54:-Pick out the most appropriate word from the choices to fill in the blanks to make the sentence complete.

Ayesha always ...... the permission of her father before going for movies.
A:-seeking
B:-seeks
C:-sought
D:-seeker
Correct Answer:- Option-B
Question55:-Pick out the most appropriate word from the choices to fill in the blanks to make the sentence complete.

The waiter hasn't brought the coffee ...... I've been here an hour already.
A:-ill
B:-up
C:-yet
D:-still
Correct Answer:- Option-C
Question56:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R and S to construct a logical sent

Education is

P : of civic sense and responsibilities
Q : the first need
R :in a citizen
S : for the development
The Proper sequence should be:
A:-SQPR
B:-QSRP
C:-QSPR
D:-PQRS
Correct Answer:- Option-C
Question57:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R and S to construct a logical sent

| was

P : and stay for few days in Delhi
Q : when my father told me

R : very excited

S : that | could go with him

The Proper sequence should be:
A:-PQRS
B:-RQSP
C:-QRSP
D:-SPQR
Correct Answer:- Option-B
Question58:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R and S to construct a logical sent

The master

P : who was very loyal to him

Q : punished the servant

R : without giving any valid reason
S : when he left the work unfinished

The Proper sequence should be:
A:-RQPS
B:-RQSP
C:-QPSR



D:-QRPS
Correct Answer:- Option-C
Question59:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R and S to construct a logical sent

We must read books

P : if we want to absorb

Q : with concentration

R : and not as we read newspapers
S : the fruits of great literature

The Proper sequence should be:
A:-QPRS
B:-PSQR
C:-PRSQ
D:-PRQS
Correct Answer:-Question Cancelled
Question60:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R and S to construct a logical sent

| enclose

: and the postage

: a postal order

: the price of books
: which will cover

WO T

The Proper sequence should be:
A:-RPSQ
B:-QSPR
C:-QSRP
D:-QPSR
Correct Answer:- Option-C
Question61:-Dr. M. S. Swaminathan has distinguished himself in which of the following fields?
A:-Agriculture
B:-Medicine
C:-Astrophysics
D:-Physics
Correct Answer:- Option-A
Question62:-The first woman in space was
A:-Valentina Tereshkova
B:-Sally Ride
C:-Naidia Comenci
D:-Tamara Press
Correct Answer:- Option-A
Question63:-Who is the creator of the Rock Garden in Chandigarh?
A:-Pupal Jayakar
B:-Le Corbousier
C:-Glen
D:-Nek Chand
Correct Answer:- Option-D
Question64:-Raja Ravi Verma, was famous in which of the fields?
A:-Painting
B:-Politics
C:-Dance
D:-Music
Correct Answer:- Option-A
Question65:-India's first nuclear blast at Pokhran in Rajasthan took place in
A:-1984
B:-1974
C:-1964
D:-1954
Correct Answer:- Option-B
Question66:-The first Indian to be awarded the Oscar for lifetime achievements in Cinema in 1992 was
A:-Satyajit Ray
B:-Bhanu Athaiya
C:-Dilip Kumar
D:-Amitabh Bachchan
Correct Answer:- Option-A
Question67:-Thomas Cup is associated with
A:-badminton
B:-billiards
C:-lawn tennis
D:-table tennis
Correct Answer:- Option-A
Question68:-The World Day for International Justice is observed annually on which day?
A:-15 July
B:-17 July



C:-16 July
D:-14 July
Correct Answer:- Option-B
Question69:-What is the theme of the 2021 International Yoga Day?
A:-Yoga for Peace
B:-Yoga at Home and Yoga with Family
C:-Yoga for Climate Action
D:-Yoga for well-being
Correct Answer:- Option-D
Question70:-The World Refugee Day is observed on which day?
A:-19 June
B:-20 June
C:-17 June
D:-18 June
Correct Answer:- Option-B
Question71:-Who invented Bifocal Lens?
A:-Alfred B. Nobel
B:-Thomas Alva Edison
C:-Benjamin Franklin
D:-Rudolf Diesel
Correct Answer:- Option-C
Question72:-When were bar code scanners invented?
A:-1940s
B:-1950s
C:-1970s
D:-1960s
Correct Answer:- Option-C
Question73:-In which decade was the Internet first implemented?
A:-1940s
B:-1950s
C:-1960s
D:-1980s
Correct Answer:- Option-C
Question74:-Who said, 'Man is a political animal'?
A:-Dante
B:-Aristotle
C:-Socrates
D:-Plato
Correct Answer:- Option-B
Question75:-The famous book 'Anna Karenina' written by?
A:-Boris Pasternak
B:-Victor Hugo
C:-Lewis Carroll
D:-Leo Tolstoy
Correct Answer:- Option-D
Question76:-India has launched the "Year of Environment' with which friendly country?
A:-Nepal
B:-France
C:-Japan
D:-Brazil
Correct Answer:- Option-B
Question77:-The treaty of Seringapatam was signed between Tipu Sultan and
A:-Robert Clive
B:-Cornwallis
C:-Dalhousie
D:-Warren Hastings
Correct Answer:- Option-B
Question78:-Which is the highest gallantry award in India?
A:-Param Vishishta Seva Medal
B:-Param Vir Chakra
C:-Kirti Chakra
D:-Vir Chakra
Correct Answer:- Option-B
Question79:-The first recipient of Rajiv Gandhi's 'Khel Ratna' award is
A:-Viswanathan Anand
B:-Leander Peas
C:-Kapil Dev
D:-Limba Ram
Correct Answer:- Option-A
Question80:-The members of the Rajya Sabha are elected by
A:-the people
B:-Lok Sabha
C:-elected members of the legislative assembly
D:-elected members of the legislative council



Correct Answer:- Option-C
Question81:-Arjuna Award is given for
A:-Exceptional service in emergency
B:-Bravery on battlefield
C:-Outstanding performance in sports
D:-Exceptional service in slum dwellers
Correct Answer:- Option-C
Question82:-The headquarters of World Intellectual Property Organisation (WIPQ) is in
A:-Paris
B:-Madrid
C:-New York
D:-Geneva
Correct Answer:- Option-D
Question83:-The members of Lok Sabha hold office for a term of
A:-4 years
B:-5 years
C:-6 years
D:-3 years
Correct Answer:- Option-B
Question84:-Which of the following dances is a solo dance?
A:-Ottan Thullal
B:-Kuchipudi
C:-Yakshagana
D:-Odissi
Correct Answer:- Option-A
Question85:-Entomology is the science that studies
A:-Behaviour of human beings
B:-Insects
C:-The origin and history of technical and scientific terms
D:-The formation of rocks
Correct Answer:- Option-B
Question86:-Exposure to sunlight helps a person improve his health because
A:-the infrared light kills bacteria in the body
B:-resistance power increases
C:-the pigment cells in the skin get stimulated and produce a healthy tan
D:-the ultraviolet rays convert skin oil into Vitamin D
Correct Answer:- Option-D
Question87:-Jaspal Rana is associated with which of the following games.
A:-Swimming
B:-Archery
C:-Shooting
D:-Weightlifting
Correct Answer:- Option-C
Question88:-Modern football is said to have evolved from
A:-England
B:-India
C:-France
D:-Spain
Correct Answer:- Option-A
Question89:-Mount Everest was captured by Edmund Hillary and Tenzing Norgay in the year
A:-1951
B:-1952
C:-1953
D:-1954
Correct Answer:- Option-C
Question90:-Soil acidity is generally corrected by
A:-proper irrigation
B:-adding sodium hydroxide
C:-liming
D:-application of fertilizers
Correct Answer:- Option-C
Question91:-Small amounts of iodine are necessary in our diet to
A:-prevent pellagra
B:-compensate for underactive thyroid gland
C:-stimulate clotting of blood
D:-stimulate pituitary gland
Correct Answer:- Option-B
Question92:-The reaction which converts sugar solution into alcohol is an example of
A:-saponification
B:-hydrogenation
C:-fermentation
D:-hydrolysis
Correct Answer:- Option-C
Question93:-The saffron colour in the national flag signifies



A:-truth and peace
B:-courage and Sacrifice
C:-faith and chivalry
D:-None of the above
Correct Answer:- Option-B
Question94:-The refrigerant commonly used for domestic refrigerators is
A:-alcohol
B:-ammonia
C:-neon
D:-None of the above
Correct Answer:- Option-B
Question95:-The ozone layer is being destroyed by chlorofluorocarbons. In this regard which do you consider as the most harmful?
A:-Carbon atom
B:-Chlorine atom
C:-Fluorine atom
D:-The entire compound
Correct Answer:- Option-B
Question96:-The red blood cells are produced in the
A:-heart
B:-liver
C:-lymph nodes
D:-bone marrow
Correct Answer:- Option-D
Question97:-The Olympic Symbol (Summer Games) comprises five rings or circles linked together to represent
A:-the sporting friendship of all people
B:-the five continents
C:-both (a) and (b)
D:-None of the above
Correct Answer:- Option-C
Question98:-When is the International Workers' Day?
A:-15th April
B:-12th December
C:-1st May
D:-1st August
Correct Answer:- Option-C
Question99:-When a given amount of air is cooled
A:-the amount of moisture it can hold decreases
B:-its absolute humidity decreases
C:-its relative humidity remains constant
D:-its absolute humidity increases
Correct Answer:- Option-A
Question100:-When did India enter space age by launching the satellite 'Aryabhatta'?
A:-1966
B:-1932
C:-1975
D:-1990
Correct Answer:- Option-C
Question101:-What were the main factors responsible for World War 1?
A:-Nationalism and imperialism
B:-Militarism and entangling alliances
C:-Mutual rivalry, hatred, and distrust within the countries
D:-All of the above
Correct Answer:- Option-D
Question102:-When there is a decrease in the concentration of oxygen in the blood, the breathing rate
A:-increases
B:-decreases
C:-first increases and then decreases
D:-is not affected
Correct Answer:- Option-A
Question103:-Which country hosted the first Asian Games?
A:-India
B:-Indonesia
C:-lran
D:-Malaysia
Correct Answer:- Option-A
Question104:-Which of the following acts as a resistance in the body?
A:-Carbohydrates
B:-Red corpuscles
C:-Vitamins
D:-White corpuscles
Correct Answer:- Option-D
Question105:-Which of the following chemicals is useful in photography?
A:-Aluminium hydroxide
B:-Potassium nitrate



C:-Silver bromide
D:-Sodium chloride
Correct Answer:- Option-C
Question106:-What number should come next in the series 7, 10, 8, 11,9, 12, ....... ?
A7
B:-10
C:-12
D:-13
Correct Answer:- Option-B
Question107:-Which one of the following is not a prime number?
A:-31
B:-61
C:-71
D:-91
Correct Answer:- Option-D
Question108:-0.003 x 0.02 = ?
A:-0.06
B:-0.006
C:-0.0006
D:-0.00006
Correct Answer:- Option-D
Question109:-A man purchased a cow for Rs. 3000 and sold it the same day for Rs. 3600, allowing the buyer a credit of 2 years. If the rate of interes
then the man has a gain of:
A:-0%
B:-5%
C:-7.5%
D:-10%
Correct Answer:- Option-A
Question110:-A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years. The sum is:
A:-Rs. 650
B:-Rs. 690
C:-Rs. 698
D:-Rs. 700
Correct Answer:- Option-C
Question111:-A man buys a cycle for Rs. 1400 and sells it at a loss of 15%. What is the selling price of the cycle?
A:-Rs. 1090
B:-Rs. 1160
C:-Rs. 1190
D:-Rs. 1202
Correct Answer:- Option-C
Question112:-107 x 107 + 93 x93 = ?
A:-19578
B:-19418
C:-20098
D:-21908
Correct Answer:- Option-C
Question113:-A grocer has a sale of Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562 for 5 consecutive months. How much sale must he have
that he gets an average sale of Rs. 65007
A:-Rs. 4991
B:-Rs. 5991
C:-Rs. 6001
D:-Rs. 6991
Correct Answer:- Option-A
Question114:-The average weight of 8 persons increases by 2.5 kg when a new person comes in place of one of them weighing 65 kg. What might b
new person?
A:-76 kg
B:-76.5 kg
C:-85 kg
D:-None of these
Correct Answer:- Option-C
Question115:-(12345679 x 72) = ?
A:-88888888
B:-888888888
C:-898989898
D:-9999999998
Correct Answer:- Option-B
Question116:-How many bricks, each measuring 25 cm x 11.25 cm x 6 cm, will be needed to build a wall of 8 m x 6 m x 22.5 cm?
A:-5600
B:-6000
C:-6400
D:-7200
Correct Answer:- Option-C
Question117:-What least number must be added to 1056, so that the sum is completely divisible by 23 ?
A:-2
B:-3



C:-18
D:-21
Correct Answer:- Option-A
Question118:-Which of the following is a prime number ?
A:-33
B:-81
C:-93
D:-97
Correct Answer:- Option-D
Question119:-(12)3 x 64 + 432 =7
A:-5184
B:-5060
C:-5148
D:-5084
Correct Answer:-Question Cancelled
Question120:-(?) - 19657 - 33994 = 9999
A:-63650
B:-53760
C:-59640
D:-61560
Correct Answer:- Option-A
Question121:-To obtain an income of Rs. 650 from 10% stock at Rs. 96, one must make an investment of:
A:-Rs. 3100
B:-Rs. 6240
C:-Rs. 6500
D:-Rs. 9600
Correct Answer:- Option-B
Question122:-Find the odd man out. 3, 5, 11, 14, 17, 21
A:-21
B:-17
C:-14
D:-3
Correct Answer:- Option-C
Question123:-Insert the missing number. 1, 4, 9, 16, 25, 36, 49, (...... )
A:-54
B:-56
C:-64
D:-81
Correct Answer:- Option-C
Question124:-How many times are the hands of a clock at right angle in a day?
A:-22
B:-24
C:-44
D:-48
Correct Answer:- Option-C
Question125:-Insert the missing number 8, 7, 11, 12, 14,17, 17, 22, (...... )
A:-27
B:-20
C:-22
D:-24
Correct Answer:- Option-B
Question126:-Find out the wrong number in the series. 196, 169, 144, 121, 100, 80, 64
A:-169
B:-144
C:-121
D:-80
Correct Answer:- Option-D
Question127:-Find out the wrong number in the series. 40960, 10240, 2560, 640, 200, 40, 10
A:-640
B:-40
C:-200
D:-2560
Correct Answer:- Option-C
Question128:-A man is 24 years older than his son. In two years, his age will be twice the age of his son. The present age of his son is:
A:-14 years
B:-18 years
C:-20 years
D:-22 years
Correct Answer:- Option-D
Question129:-A fruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had:
A:-588 apples
B:-600 apples
C:-672 apples
D:-700 apples



Correct Answer:- Option-D
Question130:-(935421 x 625) =?
A:-575648125
B:-584638125
C:-584649125
D:-585628125
Correct Answer:- Option-B
Question131:-Which article of the Indian Constitution deals with Fundamental Rights
A:-Article 351
B:-Article 71
C:-Article 12-35
D:-Article 46-59
Correct Answer:- Option-C
Question132:-Dishonour of a cheque is an offence under:
A:-Section 138 of the Negotiable Instruments Act
B:-Section 420 of the Indian Penal Code
C:-Section 73 of the Contract Act
D:-Section 41 of the Code of Criminal Procedure.
Correct Answer:- Option-A
Question133:-A Lease Agreement is a form of:
A:-Promissory note
B:-Bill of Exchange
C:-License
D:-Contract
Correct Answer:- Option-D
Question134:-Which of the following is not an Alternate Dispute Redressal Mechanism?
A:-Mediation
B:-Lok Adalat
C:-Arbitration
D:-Plea Bargaining
Correct Answer:- Option-D
Question135:-Who among the following appoints the Lokayuktha and Upalokayuktha
A:-President
B:-Prime minister
C:-Vice president
D:-Governor or Lieutenant Governor of the concerned state/UT
Correct Answer:- Option-D
Question136:-Which article of the Indian Constitution deals with imposition of Presidents Rule
A:-Article 344
B:-Article 356
C:-Article375
D:-Article344
Correct Answer:- Option-B
Question137:-The 44th Amendment Act of 1978 to the Constitution of India:
A:-Deleted the Fundamental Right to acquire, hold and dispose off property.
B:-Introduced the Fundamental Right to free and compulsory education.
C:-Deleted Fundamental Right to work
D:-Suspended the Fundamental Right to constitutional remedies.
Correct Answer:- Option-A
Question138:-Who declared a state of emergency in India under Article 352 of the Constitution of India in the year 19757
A:-Indira Gandhi
B:-Giani Zail Singh
C:-Fakhruddin Ali Ahmed
D:-Sanjay Gandhi
Correct Answer:- Option-C
Question139:-Initially for how long president rule can be imposed in a state
A:-6 months
B:-9 months
C:-12 months
D:-15 months
Correct Answer:- Option-A
Question140:-Right to vote is a
A:-Moral Right
B:-Common law Right
C:-Fundamental Right
D:-Constitutional Right
Correct Answer:- Option-D
Question141:-The act of unlawful entering into another’s property constitutes
A:-Encroachment
B:-Restraint
C:-Trespass
D:-Appropriation
Correct Answer:- Option-C
Question142:-As per Article 21A, the state shall provide free and compulsory education to all children of age



A:-Six to ten years of age
B:-Six to twelve years of age
C:-Six to eight years of age
D:-Six to fourteen years of age
Correct Answer:- Option-D
Question143:-Starting point of an agreement is
A:-Advertisement
B:-Invitation to offer
C:-Proposal
D:-Acceptance
Correct Answer:- Option-C
Question144:-In which House is the Presiding Officer, not a member of that House
A:-Rajya Sabha
B:-Lok Sabha
C:-Vidhan Sabha
D:-Vidan Parished
Correct Answer:- Option-A
Question145:-The Supreme Commander of the Indian Armed Force is
A:-President of India
B:-Prime Minister
C:-Defence Minister
D:-Army Chief
Correct Answer:- Option-A
Question146:-In cognizable offences
A:-a police officer shall not arrest without warrant
B:-a police officer may arrest without warrant
C:-arrest is not required
D:-a police officer himself can arrest and release
Correct Answer:- Option-B
Question147:-In camera refers to
A:-in private
B:-public
C:-open trial
D:-oral submission
Correct Answer:- Option-A
Question148:-The number of nominated Rajya Sabha members of India is
A:-12
B:-15
C:-19
D:-10
Correct Answer:- Option-A
Question149:-Capital punishment means:
A:-death penalty
B:-imprisonment of 14 years
C:-imprisonment till death
D:-Imprisonment of 20 years
Correct Answer:- Option-A
Question150:-Who presides over a joint sitting of the lower and upper house of the Parliament?
A:-President of India
B:-Speaker of the RajyaSabha
C:-Speaker of the LokSabha
D:-Leader of the Opposition
Correct Answer:- Option-C
Question151:-The 'Electoral College' for the election of the President of India constitutes?
A:-Members of the Lok Sabha and the RajyaSabha
B:-Members of the Lok Sabha
C:-Members of the Lok Sabha, RajyaSabha and Legislative Assemblies of the States,
D:-Elected Members of the LokSabha, RajyaSabha and Legislative Assemblies of the States, including Puducherry
Correct Answer:- Option-D
Question152:-The President gives his resignation to the
A:-Chief Justice
B:-Parliament
C:-Vice President
D:-Prime Minister
Correct Answer:- Option-C
Question153:-Who appoints the Chairman of the UPSC?
A:-President
B:-Speaker of Lok Sabha
C:-Chief Justice of India
D:-Prime Minister
Correct Answer:- Option-A
Question154:-De novo means:
A:-New
B:-Nothing



C:-Decline
D:-Waive
Correct Answer:- Option-A
Question155:-LLB stands for
A:-Law est jury
B:-Legalite Lawyers Baccili
C:-Legum Baccalaureus
D:-None of the above
Correct Answer:- Option-C
Question156:-Who is the ex- officio Chairman of the Council of States ?
A:-Vice- President
B:-Leader of the opposition
C:-President
D:-Speaker
Correct Answer:- Option-A
Question157:-There are some offences which are punishable with simple imprisonment only
A:-A contempt of court
B:-Offences against state
C:-Defamation
D:-Assault on public servant
Correct Answer:-Question Cancelled
Question158:-Ultra vires:
A:-Inside the power
B:-With the power
C:-Outside the power
D:-To the power
Correct Answer:- Option-C
Question159:-Res Judicata:
A:-Case to be decided
B:-Case already decided
C:-Case not to be decided
D:-Case posted for hearing
Correct Answer:- Option-B
Question160:-Actio personalis moritur cum persona:
A:-A personal right does not die with person
B:-A personal right of action dies with the person
C:-A personal right does not exist
D:-None of these
Correct Answer:- Option-B
Question161:-Ignorantia juris non excusat:
A:-Ignorance of law is no excuse
B:-Ignorance of law is excused
C:-Ignorance of fact is not excused
D:-None of these
Correct Answer:- Option-A
Question162:-The tenure of the Council of Ministers is:
A:-Co-terminus with the Lok Sabha
B:-Uncertain
C:-Five years
D:-Fixed and co-terminus with the President
Correct Answer:- Option-B
Question163:-Which one of the following can amend Fundamental Rights?
A:-A Parliament
B:-Lok Sabha
C:-Supreme Court
D:-President
Correct Answer:- Option-A
Question164:-The Right of Property ceased to be Fundamental Right from
A:-1975
B:-1976
C:-1978
D:-1979
Correct Answer:- Option-C
Question165:-The Oath of Office to the President is conducted by:
A:-The Chief Justice of India
B:-The Prime Minister
C:-The Vice-President of India
D:-None of the above
Correct Answer:- Option-A
Question166:-A judge of the Supreme Court holds office till he/she reaches the age of:
A:-58 years
B:-60 years
C:-65 years
D:-There is no upper age limit



Correct Answer:- Option-C
Question167:-Who is India's youngest judge?
A:-Mayank Pratap Singh
B:-Nilesh Sabnis
C:-Bharat Chugh
D:-None of these
Correct Answer:- Option-A
Question168:-The present Income Tax Act was enacted during:
A:-1942
B:-1961
C:-1984
D:-1991
Correct Answer:- Option-B
Question169:-A master is liable for the wrongs committed by his servants. It is called:
A:-joint liability
B:-vicarious liability
C:-concurrent liability
D:-civil liability
Correct Answer:- Option-B
Question170:-Self Defence
A:-is a private remedy
B:-is a judicial remedy
C:-is available as defence only in civil law
D:-is available in both torts and crimes
Correct Answer:- Option-D
Question171:-In India the Election Commission consists of
A:-2 members
B:-3 members
C:-5 members
D:-None of the above
Correct Answer:- Option-B
Question172:-Who is the current election commissioner of India?
A:-Achal Kumar Jyoti
B:-Sunil Arora
C:-Sushil Chandra
D:-Om Prakash Rawat
Correct Answer:- Option-C
Question173:-Who was the 1st women judge of India?
A:-Anna Chandy
B:-M. Fathima Beevi
C:-Sujata Manohar
D:-Ruma Pal
Correct Answer:- Option-A
Question174:-We borrowed the idea of parliamentary system of democracy from:
A:-Sweden
B:-Canada
C:-US.A
D:-England
Correct Answer:- Option-D
Question175:-In what proportion the members of the Rajya Sabha retire:
A:-All the members retire after 6 years
B:-Half of the members retire every three years
C:-One-third members retire every two years
D:-One-sixth members retire every year
Correct Answer:- Option-C
Question176:-Which of the following persons can attend the session of the parliament but has no right to vote:
A:-The Speaker
B:-Comptroller and Auditor general
C:-Chief Justice of India
D:-Attorney General of India
Correct Answer:- Option-D
Question177:-Court of Law means
A:-Institutions where dispute are adjudicated and justice is administered.
B:-Institutions where the Laws are made.
C:-Institutions where the accused are arrested.
D:-Institutions where the Laws are executed
Correct Answer:- Option-A
Question178:-The prescribed minimum age of marriage is
A:-18 years for the girl and 21 years for the boy
B:-18 years for both
C:-21 years for both
D:-21 years for the girl and 25 years for the boy
Correct Answer:- Option-A
Question179:-Parliament of India consists of



A:-Lok Sabha and Rajya Sabha
B:-Lok Sabha and Rajya Sabha and Vice-President
C:-Lok Sabha, Rajya Sabha and State Assemblies
D:-Lok Sabha and Prime Minister Office
Correct Answer:-Question Cancelled
Question180:-Mr. R makes an attempt to steal some jewels by breaking open a box and finds, after opening the box, that there is no jewel in it. Choo
answer.
A:-Mr. R is not guilty of attempt to theft because the box was empty.
B:-Mr. R is guilty of attempt to commit theft.
C:-Mr. R is guilty of trespass.
D:-Mr. R is not guilty of any offence.
Correct Answer:- Option-B
Question181:-Muslim marriage is a
A:-Sacrament
B:-Civil Contract
C:-Divine commandment
D:-None of the above
Correct Answer:- Option-B
Question182:-In law, a man is presumed to be dead if he is not heard of as alive for
A:-5 years
B:-7 years
C:-9 years
D:-10 years
Correct Answer:- Option-B
Question183:-The first General Elections were held in India in
A:-1951-52
B:-1950-51
C:-1949-50
D:-1948-49
Correct Answer:- Option-A
Question184:-The National Song (Vande Mataram) was composed by
A:-Rabindranath Tagore
B:-Bankim Chandra Chatterjee
C:-Mahatma Gandhi
D:-None of the above
Correct Answer:- Option-B
Question185:-The National Anthem was adopted by Constituent Assembly on
A:-27 December, 1911
B:-27 December, 1949
C:-24 January 1950
D:-26 January, 1950
Correct Answer:- Option-C
Question186:-‘The Family Court Act’ was passed in the year
A:-1980
B:-1984
C:-1986
D:-1992
Correct Answer:- Option-B
Question187:-Public holidays are declared under
A:-Negotiable Instruments Act, 1881
B:-Contract Act, 1872
C:-public Employees Act, 1967
D:-None of the above
Correct Answer:- Option-A
Question188:-The jurisdiction to try a person for an offence depends upon under the general principles of criminal Law is
A:-Place of commission of crime within local area of jurisdiction
B:-A place where such person is found
C:-Nationality of the person
D:-None of the above
Correct Answer:- Option-A
Question189:-Who was the first Attorney general for India?
A:-C.K. Daphtary
B:-M.C. Setalvad
C:-Nani A. Palkhiwala
D:-Niren De
Correct Answer:- Option-B
Question190:-Ombudsman refers to the person
A:-who looks into complaints against public authorities
B:-who is the Chief of gang
C:-who is declined from the court process
D:-who is the retired judge
Correct Answer:- Option-A
Question191:-What does AIR mean
A:-ALL India Reporter



B:-All India Radio
C:-All India Reporters
D:-None of the above
Correct Answer:-Question Cancelled
Question192:-What does contra mean
A:-For
B:-In the interest of
C:-On behalf of
D:-Against
Correct Answer:- Option-D
Question193:-What does Mandamus mean
A:-Command
B:-They command
C:-We command
D:-None of the of the above
Correct Answer:- Option-C
Question194:-PRINCIPLE: A person is said to be of sound mind for the purpose of making a contract if, at the time when he makes it, he is capable «
and of forming a rational judgment as to its effect upon his interests. FACTS: Mr. X who is usually of sound state of mind, but occasionally of unsoun
enters into a contract with Mr. Y when he was of unsound state of mind. Mr. Y having come to know about this fact afterwards, wants to file a suit age
one of the following is the correct legal proposition in the case?
A:-Mr. X cannot enter into contract because he is of unsound state of mind when he entered into contract.
B:-Mr. X can enter into contract but the burden is on the other party to prove that he was of unsound state of mind at the time of contract.
C:-Mr. X can enter into contract but the burden is on Mr. X to prove that he was of sound state of mind at the time of contract.
D:-None of these
Correct Answer:- Option-C
Question195:-PRINCIPLE- A person is liable for all the injurious consequences of his careless act FACTS- Ravi, a snake charmer, was exhibiting his
people. One of the Snakes escaped and bit a child
A:-Ravi is liable to compensate the child’s family for his careless act.
B:-Ravi is not liable to anything as such things keep happening
C:-Ravi is not in a position to compensate as he is poor.
D:-None of the above.
Correct Answer:- Option-A
Question196:-What does Lex mean
A:-Law
B:-The Law
C:-Right Recognised by law
D:-Rule
Correct Answer:-Question Cancelled
Question197:-What does consensus mean
A:-The same thing
B:-Agreement
C:-Consent
D:-Unanimously
Correct Answer:-Question Cancelled
Question198:-What does corpus juris mean
A:-Body of civil law
B:-Body of the law
C:-Body of Criminal Law
D:-None of the above
Correct Answer:- Option-B
Question199:-Lis pendence mean
A:-Law suit elsewhere
B:-Pending Suit
C:-Place of standing
D:-None of the above
Correct Answer:- Option-B
Question200:-What does mens rea mean
A:-In bad faith
B:-With evil intent
C:-Bad in themselves
D:-Guilty state of mind
Correct Answer:- Option-D



